Ol &F

-

telr 218 22l
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S - B - S9(3H) - NRAY - BES o8y plE-L! HimEE)
== 1,669,813 1,485,017 184,796
2IIS MG (LB ST/ UBIEHE) 1,069,713 888,317 181,3%
25 2 531,283 479,887 51,3%
Ak2tel & xigzel 45,855 23,855 22,000
201 L] 14,900 12,900 2,000
02 2324| 14,900 12,900 2,000
OYgAxt =Xl Z2& 2,500,000& = 1CH 2,500 1,500 1,000
OUEE N8s sE0F I KA
Z& 1,500,000& * 1CH 1,500 500 1,000
401 AlZHIZLSOHY] 30,000 10,000 20,000
01 Al&HI 30,000 10,000 20,000
O3V SYESXNHE S& 2+=3At
20,000,000& = 14 20,000 0 20,000
S5 FeAREYH 24 16,925 15,725 1,200
201 B3| 16,925 15,725 1,200
02 2324H| 13,805 12,605 1,200
OFLXRNE &L=
Z& 1,100,000& » 123 13,200 12,000 1,200
S5l 2| 57,946 30,450 27,4%6
401 AIEHIZL 201 42,496 15,000 27,4%6
01 Al&Hl 42,496 15,000 27,4%6
O3JI2/2 25 S& & SaEH EXISA
2,024,000& » 14 2,024 0 2,024
O3J1el2 25 &I|2+=3At
5,570,000& = 14 5,570 0 5,570
O3J1e/2 25 RUHE=3A
16,140,000& = 14 16, 140 0 16, 140
O3712/2 15 CCTVLIHIZ A
3,762,000& » 14 3,762 0 3,762
IZAHMEIA MBS 700 0 700
405 XHHFSH| 700 0 700
01 TR ESFSHI 700 0 700
OB3Y 24 24 52| 7Y
700,000& = 1CH 700 0 700
A2 FIEAALY 538,430 408,430 130,000
A2 FUEHAAIY 538,430 408,430 130,000
401 A ZHIZLSOHY] 538,430 408,430 130,000
01 Al&HI 535,500 405,500 130,000
OATE FOIHIALY 535,500 405,500 130,000
—3JIE AtEHel =2 EXISA
437,500 * 80m 35,000 0 35,000
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SIS MG (L2 3T/ LBrHE)
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Al FEEe

SN - BB - B9I(31) - HIRAY - BAS o8y plE-L HlZE2
—2J18 2Hel sZ2&HISA
30,000,000 * 14| 30,000 0 30,000
=205 Waltel LHMMSAL
35,000,000& = 14 35,000 0 35,000
=205 Walzel sZINMSA
500,000& * 60m 30,000 0 30,000
HAE2AZUI(Z013) (DIEH/DIE 600, 100 596,700 3,400
JlE2adl 169,084 165,684 3,400
Jl=Zl 169,084 165,684 3,400
201 L] 72,534 71,934 600
01 At22t2lH| 41,190 40,590 600
Otz Z2& 150,000& * 128 1,800 1,200 600
405 XHHESH| 2,800 0 2,800
01 TR ESFSHI 2,800 0 2,800
OAIRE Xt 7 300,000& * 52 1,500 0 1,500
OSMMIED] 2 1,300,000&  1CH 1,300 0 1,300




